Problem Set 3

Friday, 22 September 2017 11 40

/ 7 1, ; 1
e F/‘“] D i —lt=4)p
rﬁ«;‘*”.’i’/} = (A—f)p _',/(
A

NI fl 4y
(f& /“’6' Ao l— '(/\,l;
/\M D )/ Z

1”0 X4
fob (02 FP2) = 4p
Fcd [ 1z Po2l=E01

+(i/3/Mn«4(12/§ZE[j/jzgﬂj :jp Z
[Z
“ 0 i/i el afk f{/; unl";- ass.
- 4 o T —~
{ (7")‘ 5 (/’—*7A)<3 + (/1—/5)/?/4//{%!3)‘5
= esod 2,
dete .
— (- f) U
f -
+ (4’2)(.5’ D)
B i M A S \
_ " B
u(qo_,g _(4—703/55 + U-P b0/
— (4- 4> D
! K — Mq,ala\,fo_c,
/ S
*|'(A—g> 7@/5/95 + (/,/IZ)%Q?
— /Vﬁu. /1,70
t Ca-prl = [
\TA;Q*", y /

R \
WWO po> /e
\ -
/¢ Cevatisn WoV/
”Z‘. [jg J K = K _ {/_ %
V’m\,\« ] — Z
| bod K= o

1 =

fodi: gz R = TR =0 i
mﬂ(: ZK:iK:/’
g =t g

LwV /ﬂ £ g['e] = © j =5 /; o
60.0( /9 2 g = o
- xq
S % TEIR) X A
?vva( P ? g = 1



